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Egzaminas Pram. Pr. 20-237: Birzelio 17 d. 10:50

Block structure - Unspent Transactio Output (UTxO) model
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Transaction template:
Tx_N ='Tx_N:In11=...||In12=...| |Outll=...| |Outl2=...| |Recl=...| | Rec2=..."

Transactions:

Tx_1="Tx_1:In11=6000] |In12=3000| | Out11=5000| | Out12=4000| | Rec1=B| |Rec2=A'
Tx_2='Tx_2:In21=5000| | Out21=3500| | Out22=1500]| | Rec1=A2| | Rec2=B'
Tx_3='Tx_3:In31=3500| | Out31=3500]| | Out32=0| | Rec1=E| | Rec2=A2'

>> hTx_1=h28('Tx_1:In11=6000] | In12=3000| | Out11=5000] | Out12=4000| |Rec1=B| |Rec2=A")
hTx_1 = 996BB7C

>>hTx_1=h28(Tx_1)

hTx_1 = 996BB7C

>> hTx_2=h28('Tx_2:In21=5000] | Out21=3500| | Out22=1500| |Rec1=A2| | Rec2=B')
>>hTx_2=h28(Tx_2)
hTx_2 =977D75B

>> hTx_3=h28('Tx_3:In31=3500]| | Out31=3500| | Out32=0| |Rec1=E| |Rec2=A2')
>> hTx_3=h28(Tx_3)
hTx_3 =9201218
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Merkle Tree - Block structure
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>>h20=h28(hTx_1)

h20 = 996BB7C

5> h21=h28(hTx_2) = >>h10=h28('996BB7C| |977D75B')
h21=977D758 | ~_—"(h10 = 77F058A

Root Hash: hO

\ >> h0=h28('77F058A|]9201218')

>> h11=h28(hTx_3)

h11 =9201218

Python
h20: 5B5412B

h21: D5C895A
h11: FEC59B7

hO = 91EFFF6

Sha2sé

h10: 77F058A
hO: 91EFFF6
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Blockchain
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>> sha256('RootHash PrevHash 737327631")
ans = FAAE534CD226FAF799 8C8424B348E020BA80639A687E93A0B8C5130ED, C51E6DE

>> sha256('RootHash PrevHash 737327632')

ans = B856211DF2EE15E30AB770C1A43CEO14ECFE573182AFD885B28D96854DBC5F21
>> sha256('RootHash PrevHash 737327633')

ans = 9C18C764E347A58E57AC3F7A3C2874D5889A0E802699FEA47EEFF8CO3BFEDAGY
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>> sha256('RootHash PrevHash 737327631")
ans = FAAES534CD226FAF799 8C8424B348E020BA80639A687E93A0B8C5130EDC51E6DE

000000000000000000 XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX

The vumaiber of pessble p-aties having 256 bits = 75

The nunbe aj adeg uate h-values y% SHA 28 6 is
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>> T=int64(4*2/19)
T=2097152

>> Tval=T/3600
Tval =583

>> Tdien=Tval/24
Tdien =24
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